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Time : 3 Hours ; Maximum Marks : 150
Note -— Attempt. Five questions in all. Questi;nv No. 1 is

eomphlaory All questions carry egual marks.
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1.  ‘What is agroclimatic zone ? Classify different agroclimatic
sones of India. Explain the cropping patterns with suitable
examples. . 30
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What are the basic .climatic elements required for the 4
crop growth ? Elaborate the impact of changing
environment on the crops and cropping patterns as
indic;ators of environment with reference to any fwo

important agricultural crops. 30
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What is watershed management ? Explain soil

conservation planning with two successful examples. 30
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Write package of p}actices for production of any three

of the following : 30

.

(@) Pigeonpea 5 i

(b) Rice . 2

an



(c) Wheat
(d) Mustard

(e) Pearl millet.
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What are the processes and factors of soil formation ?
Classify Indian soils based on modern concepts 30
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6x5=30

6. Answer any sixX of the following :

(@) Discuss the ways and means of reducing losses

of water.

() What do you anderstand by Lab to Land

programimes 2 How have they helped in Agricultural

Extension 7

rent types of forming

(¢) Discuss the economics of diffe

systems.

(d) What is farm management 7 How is it important

in the present agricultural system 7

(¢ What is irrigation scheduling 7 Write briefly the

different concepts adopted ?

(H  Discuss the problems of dryland agriculture.

(g) What are the essential plant nutrients and what

is the source of their availability ?
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() What are symbiotic and non-symbiotic bacteria ?

How do they help in nitrogen fixation ?
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Discuss the economics of potato cultivation in organic

and integrated pest management systems, 30
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Answer the following : 156x2=30

(1) If a pest confined in a particular area and occurs

regularly, its infestation is.........cciiiieiiian.
(@) Chronic
(b) Epidemic
(¢) Endemic

(d) Sporadic




(2)

(3)
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Exanthema of citrus is due to the deficiency

PE cavsrasomesnin ‘

(@) Zn -

b) Cu

(¢) Mn

(d) Fe

Dvﬁlrﬁng gene in wheat 18......ccccoviiiiniinnnns i
(@) Norin-10

() Tom Thumb

(¢) Rht

(d) All of the above

Wheat seed gall nematode iS.........ccevvervunnnns -

(@) Meloidogyne

b) Anguina
(¢) Pratylenchus
(d) Distylenchus

P.T.O.
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(5) Which of the following is a metamorphic

rock ?

() Marble

(5) Quartzite

(¢) Gneiss

“

(cd) All of the above

(6) Cropping intensity i1S..........c.ciceee. Favevise

(@) Gross cropped area x 100/Net cropped

area

(6) Net cropped area/Gross area

(c) Total area/Net cropped area

(d) None is correct
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(8)
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Solar treatment is used for.........coooiiviivnannns 5

(@) Loose smut

(b) Stem rust

(¢) Powdery mildew

(d) Blast

Proportion of sand,

SRIRA. i ccssvissnmivranies .

(@) Structure

(b) Texture

(¢) Density

(d) Consistency

silt

and

clay 1is
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(9) Lines connecting areas receiving equal pressure

-y PR SR SRR ;
(a@). Isobars
(b) Isohyetes
(¢) Isoprecipitates
;d) I.sopleths

(10) Formation of mRNA from DNA is called............. S
(a) 'i‘ran-slation
(b) Polymerisatiop
(¢) Transcription

(d) None of the above
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(11) Luxury congumption is generally associated

with!lllll.l‘t"!'lill .

() Potassinum

(h)y Nitrogen

(¢) Phosphorua

() Sulphur

(12) Regression coeflicient varies between................ ;

@) e to 4o

h) 0 to 1

(@) =1 to +1

d) 0 o

P.1.0O.



( 12 ) Agri.-1

(13) Harrows are mainly used for...... Sbyasna .

() Bund forming

(b) Primary tillage

(¢) Secondary tillage

() Weeding
(14) Which of the following acts as both herbicide and

hormone 7

(@) 2, ;Q—D

(b) MH |

() Gy

() Glyphosate
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(15) Seedless (Pnpc.ry peed) mango variely 8. coeeen. 4

(@) Mallika

(h) Ratna

() Sindhu

(ef) Amrapali
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